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EFREAZR (SI) DIREFRRK

N (Za-btY) dyn kgf
A 1 1X10° 1.01972%x10"!
1X10-° 1 1.01972x10°¢
9.80665 9.80665%x10° 1
Pa (/SR7AL) bar kgf “cm? atm mmH20 mmHgZE i3 Torr
1 1X10°5 1.01972%x10°% 9.86923x10°° 1.01972%10~" 7.50062%x1073
1X10° 1 1.01972 9.86923x107" 1.01972x10* 7.50062x10?
E A 9.80665 %104 9.80665%x 10" 1 9.67841x107" 1X10* 7.35559x10?
1.01325%10° 1.01325 1.03323 1 1.03323%x 104 7.60000x% 102
9.80665 9.80665x 10~ 110 9.67841x10°° 1 7.35559x 102

1.33322%102

1.33322%10°3

1.35951%x103

1.31579%x103

1.35951%10

1

i) 1Pa=1N,/m?

Pa MPaZE7zldN, mm2 kgf,/mm? kgf/cm?
1 1x10-¢ 1.01972%x1077 1.01972%x10°5
i B 1Xx108 1 1.01972x10" 1.01972%10
9.80665 %X 10° 9.80665 1 1Xx10?
9.80665 %X 104 9.80665X 102 1X10-2 1
Pa-s cP P
o= 1 1x103 1X10
1x10°3 1 1X1072
1X10! 1X10? 1
) 1P=dyn-s/cm?=1g/cm-s. 1Pa-s=1N-s/m% 1cP=1mPa-s
m2/’s cSt St
B 1 1Xx108 1X104
1X10-¢ 1 1X102
1X10™* 1X10? 1
i) 1St=1cm?/s
J (Ya-)) kW - h kgf - m kcal
ft=8 1 2.77778%X1077 1.01972x10" 2.38889%x10~*
IXILF-2 3.600X% 10¢ 1 3.67098%x10° 8.6000X% 102
RE 9.80665 2.72407X 1076 1 2.34270% 102
4.18605% 102 1.16279%x10-3 4.26858 X102 1
) 1J=1W s, 1TW - h=3600W -s. 1cal=4.18605J) GEt&EEHOYU —Di5F
W kgf - ms PS kcal/h
sk 1 1.01972%x10" 1.35962%x10°3 8.6000% 10"
(% - 27 9.80665 1 1.33333% 102 8.43371
7.35500% 102 7.50000%x10 1 6.32529%x102

&) TW=1J/s. PS:{LFE71. 1PS=0.7355kW (EtEAMEITIE)
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W,/ (m2 - K) *kcal/(m2 - h-C)
BmZERH 1 8.6000% 10"
1.16279 1
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